Decision 2 Network Flows Answers
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Cut through AF, 4D, BD, DE, DG, and
GF

Reduce max flow by their EG
changing 19 to 15
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Forward and backward flows
Adjusting flows on diagram
Routes and flows i chart

One correct other than ABD, GED
Another correct

All correct

Through 3 saturated arcs (fairly generous)
Correct

Reduce by 4 since everywhere else
saturated
Correct answer =2 marks
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1540+ 14+7+9=43
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S4BT flow 10
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SFT flow 9
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strict
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statement linking to manmum flow
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Max flow = 26

Admstme flows on network
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